\L
3K
i

REBERL, RIELRE

4

AABEETERE (GF&F)

—. EERT (@345, #H159)

el

Lém ()

~

\

1. FHEHNZE ()

2. #Fa={2, -1, 4}, b={m, 3, n}, Bay//b, W ()
A m=-6, n=-12

B.m=6, n=-12
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Dm=-3, n=-6

3. BHly = cos(x?), Mdy= ( )
A. —2xsin(x?)

B. —2xsin(x?)dx

C. —2xsin(x?) +C

D. 2xsin(x?)dx
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6. F(x) = [; f(x)dx, MF'(x) = -

- e*+3, x<0 R
7. Bf(x) = fEx = 0%biE4E, Mla =

a—2x, x=0

x 1

8. y =:3 - WUy’ =
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2. REERS [ e *dx.

3REMS. [7 xPcosxdx.

4.y =/ Hf () NRISEE, Ky".

5.z =xIn(xy), gz %2
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6. RMPHFE + x2)dy + 2xydx = ORVIERR.
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M. VAR (885, H169)

LARFRME—IEKRE tHA , BEILU30km / hWBIREITH, ZMEAR40km / hESRETTIR, KWFAEEEEWERE.

2.KMHy = x%, x = 1 x4PRERA T EERER.
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